Fill in the blanks. C(; Q‘M)&D C)\/ ﬁ/‘ g SCORE: /6 PTS

NOTE: For each part (ie. [a], [b], [c]), you must fill in all blanks correctly to receive any credit.

[a] Ifline £, is parallel to line £, , then the DIRECTION  vector of line L, is EArALLEL tothe

D) zelTIorN  vector of line £,.

[b] Ifline £ is parallel to plane ¢, then the Dlr2i=T700d  vector of line £ s PERPaIDICAADo the

NORMAL  vector of plane .

[c] If plane (0, is perpendicular to plane §,, then the A MAA—~  vector of plane (2, is DZ‘JQQ:"}\)D)CM%O the

NNZI AL vector of plane {,.




Fill in the blanks. SCORE: /4 PTS

& 5

[a] IfixV =<3, -2,—5>, then ﬁxﬁ=l</3)2,5> vV
AP N |

P

[b] If (xV) Ww=—06,then ii-(V x W)= ]"b {@ ‘_‘(‘OJYP\T)N
—

[c] If i,V and X are adjacent edges of a parallelepiped, and i xV =< 3,2, -5>and X =<1,3,3 >,

then the volume of the parallelepiped is BJ@Z }&6 x—\:/)B ‘_f:; J . } —*?> t 69" | 5 )




Suppose that l; is a vector of magmtude 3, and c? is a vector of magnitude 4, SCORE: /3 PTS

and the angle between b and d is 2Z radians. Fill in the blanks.

@ |bxd|= Jef’\@fll’g) 508 = 38 sws

[b]
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o | @ < MUST BE AVECTOR.  NOT A NOMEBEI2-




Let P be the point (—1, — 5, 3). /J< - ITE{?\/{ % SCORE; /17 PTS
Let ) be the point (1, — 4, 4). @ PD{N—"’ :
Let R be the point such that PR =37 +2k . = :
UMLESS OTHERIMSE (sTED
[a] Find a vector of magnitude 3 perpendicular to both PQ and PR .
P2=42 11>, i =

i = = (L8, LIRS i > 2 S ml =2
M J t = <Z,P|/‘—:))> <2},__|/,3>_ (g}o)2>: (o ”(9:0/[

it v

| [b] S is a point such that POSR is a parallelogram. Find the area of parallelogram POSR .

L IR L2,

[c] Find the standard (point-normal) equation of the plane which is parallel to both P_Q and PR, and also contains P .

A= PR P2 - (2, -3

261 - (j»r-- ©) /39”33 =
e e
[d] Find the angle between the plane in part [c] and the plane x +3y +2z = 7.

cos” TRl 1235030 1220
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[e] Find parametric equations for the line which is parallel to =y-3= , and also contains Q.
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